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11.

Section-1
General Studies

The Preamble of the Indian Constitution is based on which of the following documents/laws ?

(a) Nehru Report (b) Objectives Resolution

(c) Government of India Act, 1935 (d) Indian Independence Act, 1947
Who is the author of the book, “The Indian Constitution : Cornerstone of a Nation” ?
(a) Granville Austin (b) Prabhu Chawla

(¢) Susanne Rudolf (d) M.P. Singh

Which of the following Article of the Indian Constitution deals with the procedure of
amendment of the Constitution ?

(a) Article 280  (b) Article 352 (c) Article 360 (d) Article 368

Which of the following Article provides for the Constitution of Finance Commission to
review the financial position of Panchayats ?

(a) Article 243 A (b) Article 243 B (c) Article 243 D (d) Article 2431

The Right of Privacy is envisaged in which Article of the Indian Constitution ?

(a) Article 14 (b) Article 19 (c) Article 21 (d) Article 32
Who of the following was the Constitutional advisor to the Constituent Assembly ?
(a) Rajendra Prasad (b) B.R. Ambedkar

(c) B.N.Rao (d) J.L. Nehru

Which schedule of the Indian Constitution deals with the distribution of legislative powers
between Centre and States ?

(a) 5™ schedule  (b) 6™ schedule (c) 7™ schedule (d) 8" schedule

Which of the following country/group of countries got membership in the G-20 Conference,
2023 organised by India ?

(a) Nepal (b) Pakistan (c) Bangladesh (d) African Union

Which one of the following is not included in Multidimensional Poverty Index (MPI) ?
(a) Heath (b) Education (c¢) Living Standard (d) Per Capita Income

Which of the following programme of Government of India is operative under ‘Jal-Jeevan
Mission’ ?

(a) Namami Gange (b) Swachhata Pakhwada

(c) Har Ghar Jal (d) Water Treatment Plants

In Sustainable Development Goals 2030, which of the following is identified as a Goal-4 ?
(a) Education (b) Health

(¢) Hunger, Poverty and Nutrition (d) Environment
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HHE T
1. WA "fay™ i same fHfeiad § 8 ford gedrest /g W aia g ?
(a) && Ui (b) 3Ie¥d Hehed
(c) WRd |EhR T, 1935 (d) VR e JAferf=m, 1947
2. “G3fen FiftceaM : HHTRN 3716 TAYH” T o oigeh i & 7
(a) I e (b) Y e (c) FHHESEH () T i
3. fmafafgd # @ IR dfagm =1 S 91 3g<se Afagm-aenegs shi Sk i foe=mT i
7
(a) 3= 280  (b) ITTHE 352 (c) 3TE 360 (d) 3= 368
4. frafefea # 9 =8 a1 sgese d=mal i fod ferfa o qrfacties g fom TR < e
T HAT & ?
(a) 3G 243 (b) TG 243 W@  (c) IV 2439 (d) TS 243 A
5. R Gfaem & form s § et & sifuer i ufepea f 7 7
(a) 3= 14 (b) IT=E 19 (c) 3TT=8G 21 (d) 3TT=sg 32
6. Fr=fciRad ¥ & % Gfaam T w1 G Terghr o ?
(a) TSI TETE (b) AR, 3EH  (c) .. T (d) I.Td. E®
7. MR GiOU™ 6l S H ST g 3R TSIl & st fagmit wfee o forawor s foe=r i
87
(a) S 3EE  (b) 6T TgEA (c) 7ot g (d) 8t Sreelt
8. WA g RN G-20 F9eH, 2023 H = H 8 ford <1/ <211 o HYg h! HE& SH1E1 TR/ ?
(a) AT (b) T (c) wiTeE (d) 3ThIeR
9. ey e guehh (Ta. .38, ) § frefeRaa s o1 v aftrford T @ 2
(a) TETEA (b) frem (c) Shed &R (d) wfa =afea s
10.  Rd ThR 3 Tt S e’ 3 3t=aia F & & i |1 ik <o S @18 7
(a) =TT T (b) T==SATIEEET  (¢) W IA (d) STeT IfGehTTT ATUE
11.  Fad faem® @& 2030 F Fr=foafead # 8 &8 @1t dea-4 F &9 8 fafga 2 7
(a) Toram (b) w@TE" (c) @, el Td qiwor (d) THieRe
-~ S ; TG
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‘Pradhan Mantri Mudra Yojna’ is related to :
(a) Rural Banks (b) Small Business Units
(¢) Medium Industries (d) None of these

Tropic of Cancer does not pass through which of the following state ?
(a) Chhattisgarh  (b) Tripura (c) Mizoram (d) Manipur

Bokaro Steel Plant was developed with the collaboration of which of the following ?
(a) United States of America (U.S.A.) (b) Germany

(c) Russia (d) England
Which one of the following pairs is NOT correctly matched ?
Railway Zone Headquarters
(a) North-Eastern Railway —  Gorakhpur
(b)  Eastern Railway — Kolkata
(¢)  South-East Central Railway  — Bilaspur
(d)  South-Eastern Railway — Bhubaneshwar
The highest population Growth Rate decade in India was :
(a) 1951-61 (b) 1961-71 (c) 1971-81 (d) 1981-91
‘Ahom’ tribe belongs to which state of India ?
(a) Andhra Pradesh (b) Madhya Pradesh
(c) Assam (d) Jharkhand
Arrange the following rivers in order from West to East :
(A) Son (B) Chambal (C) Ken (D) Betwa
(a) Betwa, Ken, Chambal, Son (b) Chambal, Betwa, Ken, Son
(¢) Son, Betwa, Chambal, Ken (d) Ken, Son, Chambal, Betwa

Which one of the following is NOT correctly matched ?

Minerals Area
(a) Gold — Kolar
(b) Coal — Jharia
(c) Iron-ore —  Guntur

Panna

(d) Diamond

According to Census-2011, which state of India has the highest percentages of Urban
Population ?
(a) Goa (b) Tamil Nadu (c) Maharashtra (d) Mizoram

As per the Census-2011, which of the following state has maximum population growth
rate ?

(a) Mizoram (b) Meghalaya (c) Tripura (d) Nagaland
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“TETTHA T T o B
(a) TTHIOT S (b) 1Y HEHTH FHIEAT (c) HEAH & (d) 3T H s &
Seh W@ fferfiad o & form T © BreRt T8 oIt 8 7

(a) BEETE (b) Frga (c) forsirem (d) wforge
ST T T o1 foreh 3 o & ferdeh TrgamT & fopan e o ?
(a) HYHI T 3THRHT (U.S.A.) (b) ST
(c) &4 (d) §IUg
freferfaa § & @ |1 3 wel gufeld T8l g ?

I @S LG R
(a) IR-FH & — TRER
(b) @ — IRl
(c) clm-ydf-nea @ — foamg
(d) cferor-gdi ™ — TR
TIA | Faiiereh SHEE gfg ot g o
(a) 1951-61 (b) 1961-71 (©) 1971-81 (d) 1981-91
‘TR ST W o fohd T @ Trafa 7 2
(a) 3TTY T (b) TEI YA (c) 3TEH (d) FRETE
frferaa Afeat w1 ufvem & qd & sn 1§ safeed hife
(A) EH
(B) I&=A
(C) o
(D) ST
(a) ST, S, T, 9 (b) =T, SAdT, o, G
(c) T, S, TeSed, o (d) 1, I, IrEel, Sadn
Frfafiad § 9 oF T 98 gufaa 181 & ?

IGIER] SE]
(a) qHT — HIAR
(b)  =iFeT LSl
(c) dR3I=H - T
(d & Rl
2011 3T SFATUFT o TR, WRA o fohd Ts § TR e o1 gfisrd aaifes g 7
(a) T (b) g (c) WERTY (d) forstrem
7 5§ fohg TSA 1 2011 3hI SFITUMT 3 STTHR 3Tk SHae gig et off ¢

(a) T (b) TETT (c) Tgu (d) AFTAUE
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‘Nhava Sheva Port’ is located in which of the following city ?

(a) Chennai (b) New Delhi (c) Mumbai (d) Cochin
Who won the International Chess World Cup in the year 2023 ?

(a) R. Praggnanandha (b) Magnus Carlsen

(¢) Vishwanathan Anand (d) Hikaru Nakamura

India won number of gold medals during 2023 Asian Games.

(a) 26 (b) 27 (c) 28 (d) 29

Who was the Chief Electoral Officer of Uttarakhand in October 2023 ?
(a) Radha Raturi (b) V. Shanmugam (c) S.S. Sandhu (d) Subhash Kumar

Which country won the women’s Football World Cup in the year 2023 ?
(a) England (b) U.S.A. (c) Portugal (d) Spain

Which Indian Village was given the ‘Best Tourism Village’ award by UNWTO in the year
20237

(a) Goat Village (b) Pipli (c) Jyotisar (d) Dhordo

On October 31, 2023 Indian President Draupadi Murmu attended the foundation Day
celebrations of which of the followings ?

(a) Ladakh (b) Tripura (c) Manipur (d) Puducherry

The point where Vikram Lander touched the surface of the moon has been named
(a) Tiranga Point (b) Shiv Shakti (c) Aditya (d) Anant

Which portal is being used currently in Uttarakhand for admission in colleges and
universities ?

(a) IFMS (b) EKOSH (c) SAMARTH (d) ABHYUDAY
Which Constitutional amendment enacted, ‘Nari Shakti Vandan Vidheyak’ ?

(a) 126" (b) 128" (c) 130" (d) 132"

Which of the following state conducted and published caste based census in 2023 ?
(a) Chhattisgarh  (b) Tamil Nadu (c) Assam (d) Bihar

Asian Games 2023 were held in ?

(a) Incheon (b) Guangzhou (c) Jakarta (d) Hangzhou
‘Dadasaheb Phalke Lifetime Achievement Award’ for the year 2023 is given to —

(a) Rajnikant (b) Rekha (c) Waheeda Rehman (d) Hema Malini
Nobel peace prize for the year 2023 was awarded to .

(a) Claudia Goldin (b) Barack Obama

(c) Narges Mohammadi (d) Pierre Agostini
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el Y seute’ e Y T s A fm g 0

() =T (b) & feeeht (c) g (d)

¥ 2023 § JHT IS fove s fepem S 7

(a) AN TEH=<  (b) TG Hlid (c) fowammem ae  (d) fepre Ao
IRA 399 2023 TS WAl h H =91 Ugeh Sl |

(a) 26 (b) 27 (c) 28 (d) 29

IR 2023 | ITRRGVE < G FHater et a9 7

(2) TG (b) <. g™ (c) TH.TH. HY (d) ¥ FAR
¥ 2023 ¥ Tfeget Gedre fovd Y fohd g1 grT SiraT = ?

(a) e (b) FTET. (c) e (d) &

T 2023 H forg IR T8 1 Y, 0.8 .30, (UNWTO) SR TS T U’ T R
FHERCTIRICI I

(a) T forerat (b) et (c) SAfTER (d) awer

31 3TRER, 2023 1 AT Tgafa et g4 7 fr=ferfaa 5 & fopmes wemman feag aumig o wm
foram @

(a) e (b) Brgm (c) =T (d) g5
I8 T gl oIkl oiet 3 TguT bl g o1 39 1 A fe T E |
(a) fawmufse (b) f3ra wfea (c) e (d) 3d

AT H ITEUE U § wgiferemeri vd fevafoamer § yow 2q fora didet o1 s foham 5 @t

7

() 3TE.THTATE. (b) .M (c) &md (d) 3rgea
AT vk det ferdrres” @fere o form geitem gro afia gan 8 7

(a) 1269 (b) 1289 (c) 1309 (d) 1329
e 4 9 fopm oo 3 99 2023 1 S1far et SHoET AT TE SRt s ?
() BEETE (b) TfHeHTg (c) @ (d) fomm
TRRE 7 2023 ST gC Y

(a) SEAFH  (b) T3S A (c) STebrdi & (d) =S A
Y 2023  fIU ‘erel 9ie Hiesh AEHIRH F=iaie §H fhd JeH fran man g ¢
ORSEIE (b) W@ (c) TEe@HN (d) &1 HfeAHT
Y 2023 HIAEA MAIEHR_ HIYEH TR |

(a) FATS(SAT Miced (b) STk A&

(c) i Higwel (d) fre wfest
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Which of the following state has hosted The National Games-2023 ?
(a) Maharashtra (b) Goa (¢) Gujarat (d) Odisha

Which of the following country is not included to become full time member of the ‘BRICS’
from 1% January, 2024 ?

(a) Argentina (b) Egypt (c) Iran (d) Japan

Rock paintings of Lakhudyar are located in which district of Uttarakhand ?
(a) Chamoli (b) Uttarkashi (c) Almora (d) Champawat

Queen Guleria handed over the reins to which Parmar ruler ?
(a) Lalit Shah (b) Narendra Shah  (c¢) Pratap Shah (d) Kirti Shah

Ranibagh situated near Kathgodam was established after the name of which queen ?
(a) Karnawati (b) Jiyarani (¢) Khaneti (d) Guleria

With which of the following mass movements of Uttarakhand, the Azad Panchayat is
associated ?

(a) Ranwai Movement (b) Kuli Begar Movement
(c) Dola Palki Movement (d) None of these

Which King of Tehri state changed the name of the Chief Court as ‘Huzoor Daftar’ ?
(a) Pratap Shah  (b) Kirti Shah (c) Narendra Shah  (d) Sudarshan Shah

Who among the following was regarded as the Uncrowned King of Kumaun ?
(a) G.W. Traill (b) George Lushington
(c) Henry Ramsay (d) Edward Gowan

Who among the following laid down the foundation of Vivekanand Parvatiya Krishi
Anusandhan Sansthan in 1924 at Almora ?

(a) Nain Singh (b) Boshi Sen
(c) Neelambar Joshi (d) Doctor Khajan Chand

At which of the following places the third annual session of Kumaun Parishad was organised ?
(a) Kotdwar (b) Kashipur (c) Haldwani (d) Bageshwar

Which of the following natives of Uttarakhand was associated with Azad Hind Fauz (I.N.A.) ?
(a) Balbhadra Singh Negi (b) Darban Singh
(c) Gabar Singh Negi (d) Chandra Singh Negi

Where did the Garhwal Sewa Sangha establish in the year 1936 ?
(a) Allahabad (b) Delhi (c) Dehradun (d) Lucknow

Series-A A ROE



36.

frifera o 9 fore U= 3 TP Wer-2023 1 3TAISH fohar ?
(a) WEWIY (b) T (c) TSR (d) feam

37. freifera § & fopm <@ 1 1 S, 2024 & “foe@’ (BRICS) 1 qUishTielsh T8 S o folg
it & fepam T g 7
(a) AT (b) e () ¥ (d) ST
38, TSI o I oA ITREUE o fohd Sug § feora 8 7
(a) <A (b) SRR (c) 3TeHIST (d) =T
39. T Torian 3 frTfeRd | & fohd TR STTEeh 1 TSI HiT o7 ?
() W@ AME (b)) R A& (c) STTH & (d) <hifc e
40. SIS % fFehe feua THTETT fopm T o6 T8 W TaTfud g3 o ?
(a) HoTierel ORERI (¢) @t (d) it
41. 3SIIC ULTIA 1 HFE-Y ITUREUE o HHTTRGd H & fohl S TR & 8 ?
(a) T@TE 3TEre (b) el SR JTETH
(c) SIAT UTeTeh! TG (d) T8 B B Tl
42, Te=0 U9 < Topg ST 5 TS o &I <ATTET 1 A0 Feaiohl ‘Gl QR L feam ?
(a) S IE  (b) ifd e (c) Fm¥mE (d) g e
43. Tr=fafEd 4 & ®F HHS HI TST-aSaiRTd TS SHeardr o1 7
() ST g (b) TSGR (c) T T (d) T TEH
44, FrfeRaa § @ foRem av 1924 1 STerIel § foaeM Tad i STEY™ T i Hia Wi of ?
(a) ¥ fog (b) et &= (c) e Sireh (d) STt WM =g
45. HATS TG I FaT aTfves SAeeH fFfcRad 3 & ford woret o et gam o 2
(a) RER (b) FRA OBt (d) HRER
46. Treifend 9 s @1 Iqwrave fam 31Tsie fae ®is (3118.19.1.) § grafRg ot 7
(a) sorg RigFft (b) @ fiig (c) TR fig i (d) = f&g
47. TN 1936 H T Hell HYl <h TUTIAT Haf ol TS off ?
() FomEEm b Rt ) & o
ROE 9 Series-A
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Losar festival is associated with which tribe of Uttarakhand ?
(a) Jad-Bhotiya  (b) Tharu (c) Jaunsari (d) Boksa

Who founded the Dasholi Gram Swarajya Sangha ?
(a) Gaura Devi (b) Chandiprasad Bhatt
(¢) Sundar Lal Bahuguna (d) Anil Prakash Joshi

Who among the following was known by the nickname ‘Charan’ ?
(a) Harekrishan Raturi (b) Chandiprasad Bhatt
(c) Shivprasad Dabral (d) Gangadutt Upreti

Who among the following was known by the name “Gosain Dutt’ in his childhood ?
(a) Lokratna Pant (b) Sumitranandan Pant
(¢) Govind Ballabh Pant (d) Gangadutt Upreti

Which one of the following is a kind of aerophone ?
(a) Hudka (b) Nagfani (c) Dhol (d) Dotara

Traditionally the Rawal Priests of Badrinath originally hail from which state ?
(a) Assam (b) Maharashtra (c) Telangana (d) Kerala

Which one of the following temples is located in Garhwal ?
(a) Dhaulinag (b) Berinag (c) Nagnath Pokhari (d) Kalinag

Which of the following group of districts in Uttarakhand share International boundary ?
(a) Champawat, Nainital, Udham Singh Nagar

(b) Pithoragarh, Chamoli, Uttarkashi

(¢) Chamoli, Uttarkashi, Rudraprayag

(d) Chamoli, Pithoragarh, Bageshwar

Sona Nadi Wildlife Sanctuary is situated in which of the following district ?
(a) Nainital (b) Haridwar (c) Pauri Garhwal (d) Dehradun

Which one of the following is the Author of the book “The Chipko Movement : A People’s
History” ?

(a) Shekhar Pathak (b) Ramchandra Guha
(¢) Chandiprasad Bhatt (d) Sundar Lal Bahuguna

Which one of the following district of Uttarakhand has the maximum arable land in 2020-21 ?
(a) Haridwar (b) Nainital (c) Dehradun (d) Udham Singh Nagar
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S8.

TER I o1 rary IIEUE 6l forg SHSd a8 ?

(a) Se-wWifeanr  (b) 9= (c) SERY (d) e
It T TolT= T bl TTOAT fohe i 7

(a) Tt (b) =ETgETe g

(c) X AT Sgm (d) A Sehrer Sreft

freafafea 89 w8 =Sror SFm A ag 9 7

(a) ERPoT et (b) =St g

(c) TorersrerTe gerren (d) TiTee St

frfaRad O o ford STcrehTel T “TETS ga” 19 & ST STTaT o7 7

(a) TR ud (b) g ud

(c) TNiferg ety d (d) e IS
freferfad & 9 &F @1 T g am g ?

(a) FSH (b) ATt (c) et (d) gram
1Y o el IOl TR fohdt T o ot fameft 8 & 2

(a) 3T (b) WETTY (c) CORTHT (d) H
freifera O & o o1 U TeaTer 4 fera 3 7

(a) el (b) ST (c) AT Tt (d) SHIAHTT
TGS o T SUGT o Tgg | ¥ o TT AUy THiar aren Hidr g ?

(a) FHITEd, SHidTe, 3UHiEE TR (b) TyerTe, T iet, Sathh

(c) THICAT, ITLHIM, TEIATT (d) =mvelt, TR, arweR
T ¢ gstig 3vamey fferRaa d 9 forg SHue o safa @ 2

(a) et (b) BRER (c) It e (d) <EuEd
frefaRaa & @ “g fouen! gamve : € figew faedl” g o i@ HH g ?

(a) I UTSH (b) THI=S T&T

(c) TSIIHTE g (d) G-eX AT SO

2020-21 H ITrgve % fmfafaa § 9 fora e # vaifus wy-am g g 2
(a) TGN (b) raret (c) <& (d) 3emfiE TR
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65.

Match the following and select the correct answer from given codes :

Glacier River
(A) Satopanth (i) Bhagirathi
(B)  Gangotri (i1)) Alaknanda
(C) Milam (ii1)) Eastern Ramganga
(D) Namik (iv) Goriganga
A B C D
(a) v i i il

(b) i i iv i
() i

@ i i il v

v il

T

Which tribe is also known as “Shoka” (Shauka) ?

(a) Tharu (b) Boksa (c) Bhotia (d) Munda
Which of the following National Park is the largest in terms of area ?
(a) Corbett (b) Valley of Flowers
(¢) Gangotri (d) Rajaji
Which of the following pair is NOT correctly matched ?
River Hydro-power Project
(a) Asan — Kaulhal
(b) Bhilangana — Maneri-Bhali
(c) Alaknanda —  Vishnuprayag
(d) Bhagirathi — Koteshwaram

Which of the following district of Uttarakhand has maximum forest area (%) as per India —
State of Forest Report-2021 ?

(a) Nainital (b) Uttarkashi (¢) Chamoli (d) Champawat

Which one of the following pairs is not correctly matched ?

(a) Kushkalyan Bugyal —  Tehri Garhwal
(b) Dayara Bugyal — Rudraprayag
(c) Bedni Bugyal —  Chamoli

(d) Khaliya Bugyal — Pithoragarh

In the year 1928-29 the court of Tehri hired the services of Dr. F. Heske as Forest Advisor.
He was inhabitant of which country ?

(a) Italy (b) Germany (c) France (d) Spain

In which year did Gardner implement the first Revenue Settlement of Kumaun and Garhwal ?
(a) 1799 (b) 1815 (c) 1856 (d) 1902
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59. fifeiitad = & gaferd shifse a2 feu T e 8 98t ST AT
Tt &

(A) wdMY (i) wrReft

(B) e (i) TG

(C) fyem (iii)  eff T

(D) e (iv) TTRm

A B C D

(@ iv i i iii

(b) i i v i

() ii i iv il

(d i i i v
60. opd ST b1 “STehT” o I8 | i THT ST ® 7

(a) UTE (b) srerert (c) wifean (d) gUsT
61. FAfREa I A PR A TTI ITH &F hI 3B A T TS 8 ?

(a) Hise (b) el shi =TT (c) TR (d) TSTSH
62. Treifend o @ % @1 W & gHfea T8 § 7

T STA-fergga afEe

(a) ATEA ~ PR

(b) Tyt — IO -Teft

(c) ATl —  forsupsRIm

(d)  wrfief —  HIevaH
63. WA o fufe faré-2021 % 3ER, ITrave o = ° @ fope g o waifess o7 & (%) § 7

(a) e (b) AR (c) =Hvedt (d) =EaTEd
64. Tre=fctiaa & & @M &1 g wel gufela T8 g ?

()  HIAHAT FITA SR CEISH

(b) I A —  BGYAT

(c) et g R ISl

(d) @fern g — T
65. feali e@raad 1928-29 1 9 TATEHR o &Y T Si. Uh. g&eh ohl FaTd ol | 3 forer <1 o5 Fameft

q 7

(a) seeft (b) St (c) Wi (d)
66. TSN % GRT FHTS qAT TgaTel § IUT TR See fohd Iy 1] feba T 2

(a) 1799 (b) 1815 (c) 1856 (d) 1902
e - i



67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

Who was the last ruler of the undivided Garhwal Kingdom ?

(a) Sudarshan Shah (b) Mahipat Shah

(c) Fateh Shah (d) Pradyuman Shah

Who was the first elected member of Lok Sabha from Garhwal Parliamentary Constituency ?
(a) Bhakta Darshan (b) Kamlendumati Shah

(c) D.D. Pant (d) Mukundi Lal

How many seats are reserved for women in Panchayati Raj institutions of Uttarakhand ?
(a) 33 percent (b) 40 percent (c) 50 percent (d) 55 percent

In which district of Uttarakhand, production of sugarcane is the maximum ?

(a) Nainital (b) Udham Singh Nagar

(c) Dehradun (d) Bageshwar

The fiscal deficit of Uttarakhand budget 2023-24 is targeted at :

(a) 2.7 percent of GSDP (b) 2.0 percent of GSDP

(c) 1.8 percent of GSDP (d) 1.5 percent of GSDP

Which one of the following is the largest hydro-power project of Uttarakhand ?
(a) Kotli-Bhel hydro-power project (b) Vishnuprayag hydro-power project
(c) Maneri-Bhali hydro-power project (d) Tehri hydro-power project

‘Char Dham’ project underway in Uttarakhand is related to which of the following works ?
(a) Road construction (b) Upkeep of temples
(c) Pollution control (d) Cleanliness of city areas

Which one of the following crops is not grown in Uttarakhand ?
(a) Apple (b) Litchi (c¢) Coconut (d) Sweet Orange

An important objective of Forest Policy of Uttarakhand is :

(a) To establish environmental stability and ecological balance
(b) Rural development

(¢) Rural employment programme

(d) None of these

Irrigated agricultural land in Uttarakhand is known as :
(a) Talou/Talaon (b) Jalou/Jalaon (¢) Uprou/Upraon (d) Khel

In which of the following group of districts is ‘Char Dham’ (Gangotri, Yamunotri, Badri
and Kedar) of Uttarakhand situated ?

(a) Uttarkashi — Chamoli — Tehri (b) Uttarkashi — Tehri — Pauri
(c) Uttarkashi — Rudraprayag — Tehri (d) Uttarkashi — Rudraprayag — Chamoli
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67.

68.

69.

70.

71.

72.

73.

AT TT@aTeT T okt AT TR i AT ?

() GEANE  (b) Hzdd g (c) 8 M8 (d) g M8
TEaTe olish BT & | Y fatfd dime we 3 2

(a) Werd T2 (b) FAAGAAAE () & T (d) P! oA
IAGUE =TT TS HEAT3] | Higaarsti o foru fepat €ie smfera g ¢

(a) 33 gfasm (b) 40 gfesra (c) 50 gfasra (d) 55 gfasra
ITRGUE o TohE SIYE § 7T oh1 IcATC Fieeh BT & 7

(a) e (b) 3THARIE TR (c) <Bugd (d) SFIZER
ITEUE 1 2023-24 H TehHIT U1 1 &I & :

(a) S.w@. gt = 2.7 faera (b) f.w@. gt = 2.0 e

(c) .ua. g i, = 1.8 Ufera (d) Sh.wa gt = 1.5 gfaera
Frefefad 3 | S T STUEUE T i T8 9t Tol-foe[d Ui eHT 8 ?

(a) hiceit- Het STo1-ferega aiEeTT (b) TerspsrrmT Stet-ferga i

(c) TH-uTeft STot-ferga i (d) feat sia-foega i@

IATEUE H I Wl IR g™ giEeT Feferiad st 9 9 forms grefRa g v
(a) Fsh Fmmr (b) A F@EE () o e (d) &Lt &Rl <hl A -THTS

74, TGS T 1 Topd et shi degram T Bt § 7
(a) TS (b) f=h (c) TTEa (d) HTEeT
75.  ITEUE 6t 7 At 1 U Ty Igew B -
(a) TRITEl feurar v aTifefaehia Hqe wefua e
(b) TITefior fereprar
(c) TTHIUT USHTR HRIHH
(d) 38§ I T
76. ITEUE H THT=rd Y o I T a1 2 -
(a) daAd (b) STAra (c) SWia (d) T
77. ITUEUE o TR G’ (WA, JEAG, TG T hgR) UG b fohd THE H fR@ & 7
(a) IAUHNRM — =@l — gt (b) I — fegdt — aEh
(c) AR — wgwmT — el (d) AT — TFIATT — T
— S = et



78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

What is the chemical name of Vitamin E ?
(a) Riboflavin (b) Calciferol (c) Niacin (d) Tocopherol

In a food chain herbivores are :
(a) Primary consumers (b) Producers

(c) Secondary consumers (d) Decomposers

Quinine popular malaria drug is obtained from
(a) Fruits of cinchona (b) Bark of cinchona

(c¢) Roots of cinchona (d) Leaves of cinchona

The radioactive material do not emit, which of the following ?

(a) Electrons (b) Gamma rays (c) Protons (d) Helium nuclei

Which one of the following medicine is used for treating indigestion ?
(a) Antibiotic (b) Analgesic (¢) Antacid (d) Antiseptic

The thermal conductivity of a rod depends on :

(a) Length (b) Mass

(c) Area of cross-section (d) Material of the rod
OMR stands for

(a) Optical Mark Reader (b) Operating Mark Reader
(c) Operating Menu Reader (d) None of these

Process of finding bug in a program is called —

(a) Designing (b) Coding (c) Debugging (d) Bugging
There are number of bits in [Pv4 address.
(a) 32 (b) 128 (c) 256 (d) None of these

In computer one KB equals to —
(a) 1000 bytes (b) 1024 bytes (c) 1025 bytes (d) 1048 bytes

In which of the Vedas ‘Sabha and Samiti’ are called ‘two daughters of Prajapati’ ?
(a) Rigveda (b) Yajurveda (c) Atharvveda (d) Samveda

Which among the following was the first capital of Magadh Kingdom ?
(a) Vaishali (b) Rajgriha (¢) Champa (d) Patliputra
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78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

fererfim € w1 v AT F R ?

(a) TSEAFAfad  (b) hicawial (c) Tmfi= (d) TR
Qe AT H TR & -

(a) Tnfires v (b) 3cCH

(c) Tecires Susier (d) 3IT=H

TeATE 6 ufeg gar e T 9T FoRe ST 8 |

(a) To=pIT o we (b) To=prT i BT

(c) To=piaTht sret (d) To=pia <t ufn

Frefafaa o @ i ar e uered scafsla T8t s ¢

(a) SoIHRIH (b) I feptot (c) W= (d) giferm Fg
fr=1 1 9 forg 3wl o1 ST 3199 % U= S TR g1 B 7

(a) ThEmRIfess  (b) UATCASITEh (c) TIs (d) Thafes
Teh B 1 d1d 1 ATeTehdl R s ®

(a) TS (b) FEMH

(c) ST I T &ABA (d) ©e i amfht

3N T IR Y HAIE R -

(a) 3ATChet AT Tt (b) 3TTafe uTeh et

(c) TR 8= few (d) T8 U HIE T

Tereht ST o ST g hl sk ShEaiTd & —

(a) Tesmsfam (b) wIfET (c) feafim (d) fm
IPv4 T3E § focg gt 2 |

(a) 32 (b) 128 (c) 256 (d) 39 T HI TE
I H Teh o o S & :

(a) 1000 913 (b) 1024 €T3 (c) 102598 (d) 1048 €T3
forg S 1 ‘g 3R wfufa’ s gl s @ sfeat et g 2

(a) FoE (b) TT (c) dde (d) Fme
Fr=feaRea @ @ i w1y U= i 9w T oft v

(a) Sameft (b) TR (c) = (d) Treferg
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90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

Which of the following women was a member of the Constituent Assembly of India ?
(a) Pritilata Wadekar (b) Kamla Nehru
(c) Rani Avantibai Lodhi (d) Ammu Swaminathan

Who among the following formed the ‘Goraksha Mandal’ in 1941 A.D. ?

(a) Vinoba Bhave (b) Govind Ballabh Pant

(c) Madan Mohan Malviya (d) Mahatma Gandhi

Which of the following leaders went to South Africa and helped Gandhiji in his mission ?
(a) Jawaharlal Nehru (b) Lala Lajpat Rai

(¢) Aurbindo Ghosh (d) Gopal Krishna Gokhale

The founder of Chola empire, Vijayalaya was a feudatory of which kingdom ?

(a) Rashtrakuta  (b) Chera (c) Pandya (d) Pallava

Who among the following wrote his autobiography ?

(a) Iltutmish (b) Alauddin Khilji

(c) Firoz Shah Tughlaq (d) Balban

Why was 15" August, 1947 was chosen by Lord Mountbatten for transfer of power ?
(a) This was the birthday of Mountbatten.

(b) This was a pious day in Hindu calendar.

(c) This was the birthday of Clement Atlee.

(d) This was the second anniversary of victory of Allied powers over Japan in the Second
World War.

‘Acworth Committee’ was related with which of the following subject ?
(a) Trade (b) Army (¢) Education (d) Railways

Who among the following, had called the annual session of Indian National Congress the
‘Festival of Educated Indians” ?

(a) Bal Gangadhar Tilak (b) Lala Lajpat Rai
(c) Bipin Chandra Pal (d) Ras Bihari Bose

Under which of the following Article of the Indian Constitution, the qualifications for the
election of President of India are provided ?

(a) Article 56 (b) Article 58 (c) Article 57 (d) Article 59

Which period of Indian Political System is characterised as ‘Single Party-Dominant System’ ?
(a) 1947-67 (b) 1967-71 (c) 1977-79 (d) 2004-09

In which of the following cases, the Supreme Court of India, propounded the doctrine of
‘Basic Structure of the Constitution’ ?

(a) Berubari Case (b) Golaknath Case
(¢) Kesavanand Bharti Case (d) Minerva Mills Case
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90. fifeiiaad W o S € Afge YR dfaa™ a1 1 g off ?
(a) iferetar arEst (b) HAAT TEE
(c) THT Jra=ditaTs et (d) 3 FEETeA
91. frm=fafigd @@ forad 1941 5. § “Trer qugar” 1 e fopam ot 7
OREEEIRIE] (b) MiaC TN Ud  (c) Hed Wi ATA™  (d) HgTeAT ieft
92. Ty=fciRgd § & = a1 <feror srshiest T 37T st s 3k I AT H H Heg 6l ?
(a) ST g€ (b) AT ANUA W () IRfs=g! = (d) YT HSUT A

93. TTcT U o1 A9, ToTaTery fohd TS <1 ATHA o1 7
(a) TEERE (b) =R (c) TUEH (d) wew

94, Tr=faRaa o & ferga 3ot StTerenen fordt
(a) FogarmsT (b) TAREN flgest () TohUSmmE gier (d) SetsH

95. TS WIS oh GRT Tl SEAHUT o foTT 15 3TTEd, 1947 1 fea i g1 mRm o
(a) TE HISUEHIH o1 9 fegw o |
(b) ¥ férg hetvet i Tk ufer feaa o |
(c) TE FeATHe Teett ol =1 feem o7 |

(d) ¥z Ty forva g5 o gl o o o forsr < gl o oft |
96. ‘Thad Twifa’ fFaforfaa o & fopm faww o wrafrq oft 7

(a) SR (b) BT (c) Tt (d) Ta
97. fr=fafga § @ ferem v Tl wm & aifis stfveem 1 fifta a1 Jen e
or ?
(a) ST TWTER ferereh (b) ATEAT AT T
OREEEECRIS (d) T o s

98. Wy Tfaem = f=falad o @ fora s=ag % 31=mia ard o Tgufd & fafem & fore s@and
freuifa @ 7

(a) T 56 (b) TG S8 (c) 3rT=se 57 (d) 3TF=T 59
99, R TSTITcIeh ST Sl HIH AT RS Tehdl Goftd - T HaedT o &9 H foefiend g ?

(a) 1947-67 (b) 1967-71 (©) 1977-79 (d) 2004-09
100. F=fifaa fora aTg H, YR o Haied e 5 Giag™ Sl STURd T=q1 o Mg &1
gfcaTed feRa ¢
(a) SESH TG (b) TeTHTY dTg
(c) hYEITS, W TG (d) ot forewr g
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Section-2
General Aptitude Test

101. In a row of 40 girls, Ria is 24" from the left end and Priya is 26™ from the right end. How
many girls are there between Ria and Priya ?

(a) 7 (b) 8 ) 9 (d) 10

102. Missing term in the following sequence of alphabets is :
A, D, 1, , Y
(a) M (b) N (c) O (d) P

103. If ONE = 314, TWO = 325 and FOUR = 448, then FIVE = ?
(a) 437 (b) 358 (c) 459 (d) 336

104. In each figure, numbers are arranged on the basis of some rule. Which number from the
given alternatives will replace ‘X’ ?

22 18 36

211 6 |23, 171 9 19, 35 X |37

11 6 9
(a) 10 (b) 12 (c) 14 (d) 16
105. The value of 4 +4 is
4+1
4++
69 71 83 89
a) — b) — c) = d) &
(@) 18 ®) 18 © 18 @ 18
. . 1 1 1 1 o
106. Next term in the series —, , , , 1S :
81 108 144 192
1 1 1 1
a) — b) — c) — d ——
(@) 240 ®) 256 © 312 @ 428

107. What is the total number of triangles in the following figure ?

(a) 8 (b) 10 ) 12 (d) 14
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101.

102.

103.

104.

TUE-2
T g TlEo

40 STSfRT b1 dfeka A, T srff 3R & 24 o T qen e erff 3t @ 269 T W E | o 37k
Torr & we forat TTeferai @ 2
(a) 7 (b) 8 () 9 (d) 10

Uit o f=feriaa ssry A fagqw 1g 2 -
A, D, I, , Y
(a) M (b) N () O (d) P

Ife ONE = 314, TWO = 325 3R FOUR = 448, dl FIVE = ?
(a) 437 (b) 358 (c) 459 (d) 336

Teh o 0 w3l <l fordfl fam o 3R R srafeq foren mn g | T3 T fasheqi 4 8 e
o I=AT <X Bl Tiaeiud sl 2
22 18 36

211 6 |23, 171 9 19, 351 X |37

11 6 9
(a) 10 (b) 12 (c) 14 (d) 16
105. 4+4_ HTOE B
+1
4++
69 71 83 89
(a) 33 (b) 33 (©) Eg (d) 33
106, st L L L 1 T 3TTEAT UE &
817108~ 144 192
1 1 1 1
(a) EO (b) % (©) 3? (d) ES
107. T=ferRaa fom § gt 6 Fot we@n forah 8 2
(a) 8 (b) 10 () 12 (d) 14
LLLLL — e Ty



108. Choose the odd one out from the following :

(a) Bangalore (b) Nagpur (c) Bhopal (d) Lucknow

109. Which letter in the word CYBERNETICS occupies the same position as it does in the
English alphabet ?
(@) C (b) E (c) 1 (d T

110. Choose the word which is least similar to other words in the group.
(a) Ginger (b) Onion (c) Coriander (d) Potato

111. If you write down all the numbers from 1 to 100, then how many times do you write 5 ?
(a) 11 (b) 18 (c) 20 (d) 19

112. Arrange the following in a meaningful sequence :
1. Phrase 2. Letter 3. Word 4. Sentence
(@ 1,2,3,4 (b) 1,3,2,4 () 2,3,1,4 (d) 2,3,4,1

113. If the sum of two numbers is 15 and their difference is 7, then smaller number is :
(a) 11 (b) 4 (c) 2 (d 1

114. The missing letter in the following figure is :

P G
F N
22| 21
O | 15/
? J
(@) M (b) P © Q (d) S

115. Which of the following is odd one ?
(a) Manipur (b) Sikkim (c) Haryana (d) Lakshadweep

116. Study the following figure carefully and answer the following question :
¢« Leaders

Indian 9
K>

Singers

Which region denotes Indian leaders who are not singers ?
(@) 2 (b) 3 (c) 4 (d) 5
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108. T=fcTiga 4 & fa=t =61 g

(a) SR (b) AT (c) WA (d) &S
109. CYBERNETICS 16c § shI- & 378X hT €It U SUIHTAT o TH € W& 8 ?
(a) C (b) E () 1 @d T
110. 9% ¢ I A T o 3T W[ § Ga A 5 @I 8l |
(a) 3HTH (b) TS (c) @t (d) 3e],
111. If¢ 3179 19 100 o G+t Tt forgd &, af 319 5 fehat o foret 2
(a) 11 (b) 18 (c) 20 (d) 19
112. freaferfaa s sreiyel 3 o srafeya Hifvw
1. TS
2. I’
3. Tsq
4, 9
(a) 1,2,3,4 () 1,3,2, 4 (c) 2,3,1,4 d) 2,3,4,1
113. ¢ S GEAT3T 1 AT 15 2 AT 39T 3= 7 8, Ol B! T2
(a) 11 (b) 4 () 2 ) 1
114. TaferRaa smpfa o g e 2 -
P G
F N
22| 21
D27 [ 15/
9 J
(a) M (b) P () Q (d S
115. fFefafgad R S9e 8 2
(a) HOTH (b) Tafernm (c) @famm (d) TE@gT

116. fr=1 o =1 agde v 37K fed Ty 1 3w e

{3 -

I HT & WA a1 S ek Ta81 8 1 el Hidl g 2
@2 (b) 3 |  © 4 @5 |
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117.

118.

119.

120.

121.

122.

123.

124.

In an examination, a student scores 8 marks for every correct answer and looses 2 marks for
every wrong answer. If he attempts in all 120 questions and secures 260 marks, the number
of questions, he attempted correctly, is :

(a) 48 (b) 49 (c) 50 (d) 55

Find the missing number in the following :

5 21 51
16 [109] 2 22153119 171 27 |48
6 il 13
(a) 17 (b) 49 (c) 25 (d) 29

If six digits number 35A79B is divisible by 9, then value of A + B is equal to :
(a) 12 (b) 21 (c) 30 (d) 39

The missing term of the following series is :
X78, T92, P106, ?
(a) L120 (b) K120 (c) M120 (d) L118

Choose the odd numerical pair/group in the following :
(13, 21), (19, 27), (15, 23), (16, 24)
(a (13,21) (b) (19,27) (c) (15,23) (d) (16,24)

A man walks 30 metres towards South. Then, turning to his right, he walks 30 metres. Then,
turning to his left, he walks 20 metres. Again, he turns to his left and walks 30 metres. How
far is he from his initial position ?

(a) 50 metres (b) 30 metres (c) 60 metres (d) 80 metres

Choose the one which is different from the rest in the following :
120, 728, 168, 380
(a) 120 (b) 728 (c) 168 (d) 380

If
AB

x 6
——, then A and B are :
1BB

(a) A=4,B=3 (b) A=4,B=2 (c) A=3,B=4 (d) A=2,B=4
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117.

118.

119.

120.

121.

122.

123.

124.

Teh GOT H, Teh B Tcdeh Tal 3T b o1 § 37eh UTd hidl & T Tedeh TToid ST o o 2 3Th
W1 a1 ® | Ffe a8 gt 120 T 1 B LT & 3T 260 376 T LT 3, ol 38 g Hal o

(2) 48 (b) 49 (©) 50 d) 55
frefetiad o oo 37 ST o :
5 21 51
16 [109] 2 | [22(s3]19| [17] 2 |48
6 15 13
(a) 17 (b) 49 ©) 25 d) 29
Ife S: 3Tehl I AT 35A79B, 9 W UST &, A9 A + B 1 AH ST B

(a) 12 (b) 21 (©) 30 d) 39
FfeTed s@e 4 < 96 3 ;
X78,T92, P106, ?
(a) L120 (b) K120 (©) MI20 () L118
fr=ferfaa o @ fa= e gm/ayg 94 -
(13, 21), (19, 27), (15, 23), (16, 24)
(a) (13,21) (b) (19, 27) (c) (15,23) (d) (16, 24)
Teh AU gfequr ht 3R 30 HieX =etan 7, Thi a8 319+t gifet 3Tk geant 30 et =eran & | T,

T8 0T FRA 3T’ Gt 20 HieX Fordt & | T, 98 310t sff 37K gt & 3R 30 Hiet Ferd
2 | 97 3T s feufa & fraft 2 2

(a) 50 ™ (b) 30 HieX (c) 60T (d) 80 HieX
freferfaa o & 3= & = =1 g
120, 728, 168, 380
(a) 120 (b) 728 (c) 168 (d) 380
PRI
AB
&,?ﬁA@ﬁ'{Bgz
1BB

(a) A=4,B=3 (b) A=4,B=2 (c) A=3,B=4 (d) A=2,B=4
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125.

126.

127.

128.

129.

130.

131.

132.

2 5 8 11

Which fraction comes next in the sequence =, = — —, ?
3 8 13 18
14 15 16 17
a) — b) — c) — d) 2L
()23 ()23 ()23 ()23
In the following, there are two statements labelled as Assertion (A) and Reason (R) :

Assertion (A) : Unpolished rice should be eaten.

Reason (R) : Polished rice lacks Vitamin B.

Choose the correct option from the options given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(c) (A)is true, but (R) is false.

(d) (A) is false, but (R) is true.

Ratio of A’s age to B’s age is 4 : 3. If A will be 26 years old after 6 years, then present age
of Bis:

(a) 13 (b) 14 ) 11 (d) 15

In a family, each girl has same number of brothers as she has sisters and each boy has twice
as many sisters as he has brothers. How many boys are there in the family ?

(@) 2 (b) 3 (c) 4 (d) 5

The wrong term in the following series is :
11, 2,21, 3,32,4,41,5,51,6
(a) 21 (b) 11 (c) 32 (d) 51

If3+4+5=60,4+5+3=60,5+7+4=140,then 10 +5+0="?
(a) 70 (b) 60 (c) 0 (d) None of these

If A=33 B=2!and C =7'7, then which of the following is correct ?
@ A>B>C  (b) C>B>A ©) A<B<C d) B<C<A

If a mirror is placed on the right side of the following figure :

/

then correct image of the figure is :

@ | b | N\ © l @ | ™\

Seriosk y - ROE



125. sge 22 8 1 of sren R e w s @ 7

3°8°13718°

14 15 16 17
(2) 2—3 (b) 2—3 (c) 2—3 (d 2—3

126. T=faRad o e (A) 3R %o (R) A T3 &
Y (A) : for1 difersT foham g3t =maet @1 =mfed |
ST (R) : Tiferer 753 U =maret 1 feretfim B s bt &1t 2 |
Fra fedr T ferspent & & T farepen =4
(a) (A) 3T (R) THI TE & 3T (R), (A) ) Tl AT HAT S |
(b) (A) 3R (R) THI T& &, T (R), (A) Tl T ST T8 LT ¢ |
(c) (A) &R, 9g (R) T & |
(d) (A)Td 7, Tg (R) F&I 2 |

127. A SR BH Y HIAC4: 3] | A 6 Td oG A, 26 T T 81 STRAT, 1 B 1 =M 3T § -
a) 13 (b) 14 ) 11 ) 15

128. Tsh URER H Tcdeh ISehl o WISAT <hl AT 31 &1 & Ta- 3qeh! o8] <l § 3T I TIgeh hl
& 3 gl h1 S B | aReE H fohe ofeh § 2
(a) 2 (b) 3 (c) 4 (d) 5

o o

129. FfaRad sfaen 4 Tod 9@ 3 -
11, 2,21, 3,32,4,41,5,51,6
(a) 21 (b) 11 © 32 d) 51

130. I€3+4+5=60,4+5+3=60,5+7+4=140,A10+5+0=2
(a) 70 (b) 60 () 0 (d) 399 T HIE T

131. Il A=33% B=23lgu C=7", @i ffafeqa i a s o wm a1 & 2
() A>B>C  (b) C>B>A (c) A<B<C (d) B<C<A

132. =fe U it w1 frmfeTRaa 3Tmepf o <8 SR W@ T B -

/

i st 1w wf R

@ | b | N\ © l @ | ™\
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133.

134.

135.

136.

137.

138.

139.

140.

In a class of 49 students, Mr. A is at 18" place from the top. What is his position from the
bottom ?

(a) 18 (b) 19 (c) 31 (d) 32

Which of the following is different from others in the group ?
EFGHI, UKLM, UVWXY, OPQRS
(a) EFGHI (b) UKLM (c) UVWXY (d) OPQRS

LEAP : PEAL then 8326 : ?
(a) 2368 (b) 6283 (c) 6328 (d) None of these

Which of the following options will be the most similar pair for Electricity : Cable ?
(a) Airplane : Sky (b) Heat : Fire
(c) Air:Fan (d) Water : Pipe

If A and B play football and hockey, C and D play badminton and cricket, B and C play
cricket and football, and A and D play hockey and badminton, then who plays badminton,
football and hockey ?

(a) A (b) B (c) C (d) D

Lata is one year older than Sunita. Sunita is two years older than Bindu. Rajan is one year
older than Bindu. Who is the youngest of all ?

(a) Sunita (b) Lata (c) Bindu (d) Rajan
Which number gives the same result when added to 1 % and when multiplied with 1 % ?
(a) 1 (b) 3 (c) 5 d) 7

If PINK is coded as RGPI, then how can BLUE be coded ?
(a) HLMJ (b) KTRP (c) DJwWC (d) DKRO

. What is the difference between the place values of 4 in the number 31424 ?

(a) 0 (b) 398 (c) 396 (d) 4
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133.

134.

135.

136.

137.

138.

139.

140.

141.

49 Terefie <6 e A, ofi = A T SR 1897 TIE § | e T SR A =18 ?

(a) 18 (b) 19 (c) 31 (d) 32
fFrefaRga # 9 o, TE H a8 2

EFGHI, IJKLM, UVWXY, OPQRS
(a) EFGHI (b) UKLM (c) UVWXY (d) OPQRS

LEAP : PEAL 49 8326 : ?

(a) 2368 (b) 6283 (c) 6328 (d) 379 | IS T

it e T forhedi § & oM 91, Tod : IR & Stfehan SHMaT STelt I8 g 2

(a) BATS-STETS : STTHTY (b) THT : 3

(c) oY : @l (d) o ;U

Ife A T B $8ic1 9 Bieh! Weld &, C A1 D Sgfive 9 fshehe @erd &, B @1 C fshehe 9 Beata
WeAd & 3T A TUT D gieh! o SSfived Weld &, a9 A sefiied, Fedtel qe gihl Wetdl § 2

(a) A (b) B (c) C (d) D

AT, GHAT | T a9 91 7 | gal, g ad ol ¢ | o, fog a tw I 9e1 8 | 3 |
BRI B ?

(a) gl (b) <@ (c) Tog (d) TSH
ﬁmﬁa’wwqﬁmﬁ%msﬁlé ﬁsﬁaw%aﬁxmlé { Ton R ST R 2

(a) 1 (b) 3 ) 5 (d) 7

Ff¢ PINK %I RGPI ¥ %e¢ foha1 ST &, @ BLUE 1 k¥l %he foral ST 2

(a) HLMJ (b) KTRP (c) DIWC (d) DKRO

AT 31424 H 4 o T qHT H fohdd 1 3= g 2
(a) 0 (b) 398 (©) 396 d) 4
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142.

143.

144.

145.

146.

147.

148.

149.

150.

Which of the following pairs has similarity with (36, 216) according to some rule ?
(a) (4,12) (b) (16, 32) (c) (25, 100) (d) 9,27)

Each letter of the word ARISTOTLE is arranged according to English alphabets. How many
letters do not change their position ?

(a) None (b) One (c) Two (d) Three

A clock seen through a mirror reads the time a quarter to nine. What is the actual time ?
(a) 3:15 (b) 6:15 (c) 8:45 (d) 12:15

If 25" August in a year is Thursday then the sum of the numbers of Tuesdays and Saturdays
in that month will be :

(a) 7 (b) 8 ©) 9 (d) 10

If the following scrambled letters are arranged to form the name of a city, which letter will
appear in the middle of the name of the city ?

DNODHROEA
(@) A (b) E (©) O (d) D

If Bus is related to Car, then in the same way, River would be related to :
(a) Pond (b) Lake (¢) Swimming Pool (d) Stream

In a certain code language, TEAM is written as YN and MEAT is written as RU. How will
BOOK be written in that language ?

(a) SV (b) PX (c) QZ (d) TK

X is sister of Y; Y is brother of Z; Z is husband of P and O is the father of Y. How is P
related to O ?

(a) Sister (b) Daughter (c) Aunt (d) Daughter-in-law

Figures-1 and II are related in some manner. Similarly-III and IV are related. Which one
alternative replaces the question mark ?” ?

O@O 0O ?

I II III

v
Wofe  Ocfel @ @)
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142. FHTARad § 9 H 91 W, (36, 216) & Tl FEMTIER ST @i & 2
(a) (4,12) (b) (16, 32) (c) (25,100) (d) (9,27)

143. &g ARISTOTLE o Jc3ieh 318 bl TSl IUMHTCT o SO ST foham o 7 | foha 31am
1ot fefer i seer 2
(a) S Tl (b) T () @ (d)

144. T 9 &1 U0 H T@- W A A1 o1 G0 Fe@Ts <t & | 9d) 96 1 2 2
(a) 3:15 (b) 6:15 (c) 8:45 d) 12:15

145. If¢ Foret a8 | 25 3T 1 THAR &, 1 30 HIE H WIAGRI T& WA 3h1 T 61 AR GRT -
(a) 7 (b) 8 © 9 (d) 10

146. fafeRaa STeaafa AeR o1 ARG Hieh TohET &L T AT SHRET ST & | &L h I8 5
e T shiH |7 378 AR 2

DNODHROEA
(a) A (b) E (c) O (d) D

147. 9f¢ 99, SR Q graf-2rd g, d 3 IR Tt Traf-ad gl
(a) dTATEH (b) T (c) TOT-AqTA | (d) g/

148. fq foreft e WIS H, TEAM I YN AT MEAT @i RU foT@ ST &, 36 W1 # BOOK ! v
for@m 2
(a) SV (b) PX (c) QZ (d) TK

149. X, YH G128, Y, ZHIWE®; Z, PR U & 31O, Y H1 U1 8 | P, O ¥ for TehR & grafra
22
(a) s& (b) AT (c) ==t /mrHt (d) I

150. fer=r-1 30 11 foret 9o @ wvafra 8 | 38t T 111 31 1V oft wwafRia 8 | 6 41 faehed woa
e fag <2’ sl gfcefid s 2

O@O 0O ?

I II III IV

(a) OA) (b) o@o (c) o/0o\@ (d) .@.
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